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POINTS TO PONDER
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1. The xna says that we need 2 n'7109,0ne is to exempt him from the 1x7 and the other to
exempt him from a |aap. Since what triggers the obligation to bring a a7 is the 187 and we
have a 109 that the 187 doesn't apply, why would we need another 7109 for the |2 77?

2. The mwn says "111 JIn2a 11 v the example cited in the niwn is of someone who makes a
1T to become an 1'm and then make another 711 to become a 1'1a. In reality its a 711 on top
of a 11 and should be described as 71 7y 7n 71, not 11Ma. Why does the niwn called it
"INy

3. According to xa1n 21 ,who says that the miwn ,is talking about a case of 17 nr'n 2'm a1n
ann? 7', why is this called "1 1na 1m? Each nin'n is separate.

4. The xna gives an example of nyiaw 1ma nyviaw 'k whereby he made one nyiaw not to eat
figs and another not to eat grapes. Why did it choose an example which is completely
different from the nawn? It should have used an example of 2 days, | won't eat figs today and
| won'’t eat figs tomorrow.

5. Further to the above, why is this a nyviaw 1ma nviaw? They are totally independent of each
other.

6. The xna cites an example of someone making a nviaw not to eat grapes and figs, he then
eats grapes and is wmon a |a1p. If he now would eat grapes it would be 11y'w 'xn. What'’s the
significance of him being wnon a ]2y? It seems like the point could have been made
without it.
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If you have any comments or suggestions, please email Rabbi Grunhaus at Ygrunhaus@gmail.com
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